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POPULATION STUDIES
PAPER - 1I

Note : This paper contains hundred (100) objective type questions of two (2) marks each. All
questions are compulsory.

Read the paragraph given below carefully and answer the questions (1 to 6) below :

Rural to rural migration is prominent in migration-environment linkages in Africa. In the
United Republic of Tanzania, the spread of cash crops (especially coffee and cotton) was
stimulated by government policy and led to substantial rural-rural migration to the Usangu
plains, depleting their vegetation. The human population of the plains rose fivefold between
1948 and 1988. However, the ecological deterioration was also partly due to insecure land
tenure and the absence of social institutions for regulating resource access and use. In Nigeria,
the Koyfar of the Jos plateau, responding to expanding market opportunities rather than
population pressure, migrated from the fertile Benue plains and changed from being shifting
cultivators in temporarily cleared areas of forest to being permanent and intensive tillers of
family farms in areas cleared of forest.

1.  Why people opted out for permanent and intensive tilling instead of shifting cultivation ?
(1) Demand for food was increasing.
(2) Forest clearance was restricted.
(3) Intensive cultivation generates marketable surplus.
(4)

To absorb more people in cultivation.

2. Why do you think Koyfar people have migrated out from Benue plains ?
(1)  Shifting cultivation led to land depletion.
(2) Population pressure made the area non-livable.
(3) Agricultural land was shrinking.
(4)

4) Market opportunities were more in new areas.

3.  Which among the following has not been resulted due to introduction of cash crop cultivation

in Usangu plains ?

(1) Depletion of their natural vegetation

(2) Strong social institution regulating the use of resources
(8) Large scale migration
(4)

4) Rapid increase of population

posss [ [T NANEI

N

Paper-II




STHEAT 3T
q9uA - 11
fader: 9 y-93 § 9 (100) dg-fasheda U9 ¥ 1 TS U9 F aF (2) 31k T 1 Wt g Stfard €1
ol g eI W S © Uied 3R UvR WE (19 6) 3 S i |

TTHIOT & | T &5 § YIEA AHR § JaEA-arery fdss ¥ ed § | IAsee Rufsas ifw
St | Tehel weal (fo¥oeRt it SR HU) % TR i ThRI Afadi gr1 sgan fean = ik

STk IROTHEEEY T o Aot i § Tredtor & | wrvor & H yaee gen fed a@t foh aeafaar
+0 g2 | T8 1948 31X 1988 & <= A 9N =l S Ui TAT 5G| BTeilieh qaAteRoi fiRmee &
HROT A, ST i FITTRN qA TEEA T g9 IR IHb ITA 1 fafafaq s aref
AR deieti o1 319 o T | RSl H, e UoR ol hITER 3TN Ml AN o | Jodd
A ST STHEHAT o TS oh ST d@d SIS STrER] | THIford gaTl T1 T o & STl €9 9 9

o 7T &3 § TR HT e [ s o 9™ dF1 ol 9% L ST T &35 § IRaR ®wiHt
o TR 3R e foRee &1 MU

1. <N 3 AR i o e TRl 3R Te Wl F 379 ?
(1) W= i | 5 @ o |
2)  TAYfH E HE W Gfdsy o
(3) A Bt ¥ e § o= A Afaifa w earg e S 7
(4) St H iR Afek Sl Rl IHA 3 o TISE H |

2.  T9H fI9R § RAER & AN o 6 BT 9 9 96 &l g s T E 2

(1) TAHIARA % i a5 9 fH &5 =2 |

(2) SHEA SIE A 39 &5 il WA 9 T8 W e
(3) i YA fawe & ot

(4) T & H 3TUETRd STfHe SIS & HTER 9 |

3. frfafed § 9 ®F-w1 97 #cH ¥ el wHA 1 Wl Y& R ST A1 IR0mH 7@ oo ?
(1) ! Urhfder seafadl §
(2) EEEAl & gAn @l fafEia s 9 gee S e
(3) =AU YN W Yo
(4) SHHEn ¥ dg 9fg
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4.  Which among the following migration stream is being developed due to spread of cash crops
in United Republic of Tanzania ?

(1) Rural to rural (2) Rural to urban (3) Urban to urban (4) Urban to rural

5.  Which among the following has not been identified as a reason for depletion of forest in the
above paragraph ?

(1) Change in method of cultivation.

(2) Change in land tenure system.
(3) Growth of population of forest dwellers.
(4) Increased cattle population.

6.  Which among the following correctly describes the nature of the passage ?

(1) Hypothetical  (2) Analytical (3) Fictional (4) Factual

7.  The first Population Census of England and France was carried out in which among the
following year ?
(1) 1750 (2) 1790 (3) 1801 (4) 1880

8.  Match the following propositions in List - II with the List - I with regard to the stages under
demographic transition theory :

List -1 List - IT

(a) Stagel (i) High birth rates high death rate
(b) Stage II (i) High birth rates falling death rate
(c) Stage III (i) Declining birth rates low death rate
(d) Stage IV (iv) Low birth rate low death rate
Code :

@@ (b) () (d)
® @ @ @ G)
(2) @@ @) (@) @
G) @) @Gv) @O @)
@4 @) @ @ ()

9.  The percentage of Scheduled Tribes to the total population of India according to the 2011
census is around, (percent) :

(1) o (

2)
posss [ [T NANEI
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4. U TURRA qSTA H TR e o forar % R frefafed § § wE-w yewe uw fassfad 2@
@We?
1) IHURIHT  (2) IHTEIRE  3) WAl 4) wWd R uHow

5. 39 3Tgwes H Mefarad § § ford a9 &3 He ol R0 & A1 T © 2
(1) i wgfd # e

(2)  ofH wredewRl gomedt § gftedq |
(3) o =nfEEl st SEEn | g
(4) Ogl Hl GG g GEA|

6. Trafafed & @ $H-91 S5 STT=0C F WE TS S & 2
(1) hIeqieh (2) fageroomeR®R (3) HUCHS (4) drdfas

7. e AR WY I ggelt st frefafed | 9 fee oo w6t e ot 2
(1) 1750 2) 1790 (3) 1801 4) 1880

8. et - 11 § f=fafaad el =l gt - 1§ SHifweha Hehif< fag< & sfaria staeeneti & @y

11%&—1. T - 11

(a)  SFerEN I () SHATHI SHYG I
(b) STEEATII (i) =S <, el g =
(c) SFeIEATII (i) et S <, 9 g
(d) TEEATIV (iv) FE S gy
<<

@ (b) (9 (d)
1 @ @ @) Gv)
) @) @) @) @
3) (@) @Gv) @) ()
4) @v) @) @) (i)

9. Y 2011 I SFUET o STIER 9Rd Fl Gl SHEES 6t ol § AYd S bl SHEE hl
Tofaerd o9 fordmn (%) o

1) 6 8 3) 10 4) 12

1) ()
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10. Assertion (A) : A demographic dividend is the potential for economic growth that can result
from shifts in a population age-structure.

Reason (R) : A demographic dividend is linked to a demographic transition, which begins
when child and infant death rates decreases in response to increased access
to vaccines, antibiotics, safe water, sanitation and better nutrition.

(1) Both (A) and (R) are true and (R) is correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3)  (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

11. How many categories have been recommended for matrital status by United Nation (UN) ?

(1 4 2 5 3) 6 4 7

12. In a study population, ‘P’ is the proportion of cases having a characteristic under study
based on a sample size ‘n’. Which one of the following formula to be used to calculate
co-efficient of variation ‘p’, where Q =1-P?

O *55 @ o=y O g @ o=

13. Match the significant events in the ‘National Health Programmes’ given in List - I with their
date of initiation given in List - II using the following code :
List - I List - II
(a) Family planning programme was named as ‘Family @i 2013
Welfare Programme’
(b) Target free approach was adopted in the Family Welfare i) 1997
Programme

(c) Reproductive and Child Health Programme was introduced (iii) 1996

(d) National Health Mission was introduced (iv) 1977

Code

@ () © @

1) G @) @ o

@ v @ @ o

@) G () @) (i)

@ O @ @
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10. PR (A) :  SHITheRIa oY 3Tk T & oy, o eman & S forelt Seen 6t Sg-9a=mT o
SIEETE o HRUT SCA Bl § |
e (R) : SHifchehIa AT STHITcheh ™ FohHU ¥ S[ST § I 7 AR § STl § 56l 2T,
Tremifead, G Uaere], Ta=sdl IR Sk o] de S Ugd i aeie 9 Ty
T R SR G g TR e It € |
(1) (A) 3R (R) E T § T (R), (A) T T AR T
2) (A) 3R (R) S T& ¥ W (R), (A) I & A& & 7|
(3) (A) W& T, T (R) Terd T
(4) (A) e T, W (R) TEl T
11.  Hgad U2 gR1 Sanfesk fearfa o forg e it o1 germar feam o o 2
(1) 4 (2 5 3) 6 “4) 7
12. SHEEN % 1A H, Yfaeel oTeR ‘o’ W SNeid fafdre sreoem # Amel w1 U ‘P ¥ 1 TR
U “p’ 1 TR e 3 Terw Freferfad & & fore 1 ot swaT fepen SmQm, <@ Q =1-P §?
g7
n P P
@) P pg (2) p=\/? ) P5ho (4) p=\/%
13. Gt - [ 4 3 T, ‘T e sy’ i Heequl HeIsl sl gt - [ H & T, STt Yod i
fafy o w1y 1= ST T e &1 9907 L g gHfad &L
el - 1 et - 11
(a) URER RS HREiHA H AW qRAR wedTo wRIEH WM () 2013
(b) TRAR HTATT FRHA & Sdd A&d T grealol TR &1 (i) 1997
() Turefed Uz =Eee Tou TUM ¥ foha =) (iii) 1996
(d) T e e ¥ fohan T (iv) 1977
<< :
@@ (b)) (o) (d)
1) Gv) @) @) ()
(2)  (@v) () (i) ()
3) (@) @) (@(v) @
4) @ @) @) o (Qv)
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14. Which of the following is related to ‘The Harod - Domar growth model” ?
(1) Directly related to savings and inversely related to the capital/output ratio
(2) Directly related to the capital/output ratio and inversely related to savings
(3) Indirectly related to savings and the capital/output ratio
(4) Directly related to savings and the capital/output ratio
15. Which among the following has been introduced for the first time in NFHS - 4 ?
(1) Stunted children below age 5
(2) Children below age 2 receiving adequate diet
(3) Children breast fed within one hour
(4) Children received measles vaccine
16. If A is peri-natal period, B is neo-natal period and C is post-neonatal period; then which
among the following diagram describes their relationship of stage ?
n 6Blo o @O o ® @ (aQeXe)
17. Which one is the Density of Population of India according to the 2011 census ?
(1) 372/km? (2) 382/km? (3) 392/km? (4) 492/km?
18. Assertion (A) : Unintended pregnancy is generally high among young women.
Reason (R) : In recent years, young women have high equitable gender role.
Code :
(1) Both (A) and (R) are true and (R) is correct explanation of (A)
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3)  (A) is true, but (R) is false
(4) (A) is false, but (R) is true
19. What is typical cycle of urbanization according to Kingsley Davis ?
(1) Attenuated S shape (2) Attenuated ] shape
(3) Attenuated U shape (4) Attenuated inverse U shape
porsss [ HHNIHAIRLAAN ; Fapec




14.

15.

16.

17.

18.

19.

frefafed § @ =8 @ T We-Sm Wy died § =f-od 8?2

(1) o=l o Fre He grafad SR gsi/Scred ST o are faadiaan awt-ea

(2)  gST/3cATEA STIU o Wi WY Frad SR F=dl o Wi Yiqa €9 9 i
(3) W=l SR ST/ ST o MY I T § Frf-4d

(4) w=q SR GST/3cET ST % e HE gt

TA.Uh.TE.TH. -4 § ffafad o 9 fowaen! ggel IR e foan & ?
(1) 594 4 %A 39 o TGfoh™ o=

(2) AT SRR THaT 2 I8 § HH 39 & 9=

(3) S o Teh H o IFG AU Hi ot o=

(4) @G A R T T

Ife A ‘UR-Tea’ o1afy §, B ‘FEI-Tea’ e1afy € qen C ‘ure-famea’ safy € o faefafaa 5 9
HHA-HT @ 37 L0 oY ] qiar g ?

o AElo o @O e @) @ (a0s)c)

¥ 2011 T SIUAT & STHER 74 H H T RA i STTHES 1 ¥4 & ?
(1) 372/fw.#1.2 (2) 382/fw.H1.2 (3) 392/fw.H1.2 (4) 492/fw.H1.2

AfaeRem (A) : SR Tefemor wmraan gan foi | stfies 2 €1
T (R) : T & % aul B, a1 ol ot guqed S yfah @ R

fohreet Sfad o STTAR TR 1 YIETdeh = F1 © ?
(1) &1 S SRR (2) & ] SRR
(3) &iu U 3Tehr (4) &ffo fom U R
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20. What percentage of the population was literate in the total population of India according to
the 2011 census ?
(1) 54 (2) o4 3 74 (4) 84
21. Match the Laws/theories given in List - I along with the scholars given in List - II :
List - I List - II
(a) Dual Labour Market Theory (i) Ravenstein
(b) Laws of Migration (i) Hugo
(c)  Social Networking Theory (iii) Wallerstein
(d) World System Theory (iv) Piore
Code
@ (® (9 (9
1) @) @) @O @)
2 @O @ @) (@iv)
G v @O @ (i
4) @@ @) @) @
22. Ina Life Table, the proportion of population 75 years and above that live another 10 years is :
(1) «Sp= le;§5 2) «Sp= :tii () «Sp= :ﬁ; (4) «Sp= °°15585
23. Arrange the following bigger states of India in descending order (high to low) in terms of
their crude birth rates according to the latest SRS Bulletin Report (September 2017).
(a) Bihar (b) Uttar Pradesh
(c) Madhya Pradesh (d) Rajasthan
Code :
1) @ ®) © @ @ ®) © @ @
() © (), @, O) @ (@ © 0), @
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20. a9 2011 I SIFFIVET & TR IRA i Fel SHAEAT Dl ol H FI&R AN bl Fiawraan foha-t off ?

21.

22.

23.

(
porsss ||

(1) 54 2) 64 3) 74 (4) 84

et - 1 ¥ fu T fagidl o6 gt - 11§ ST 71T 3k fqareeni & M o |1 gaferd i |

Tt - 1 Tt - 11

(a) <V g¥ IR fagid () AN
(b) v fagia (i) =W
(c) Hrera Aeafdn fagid (ili) STREM
(d) Torea yoredt fogia (iv) @R
< :

@@ () (9 (d)
1) (@) @v) @) ()
2 @ @ @) (iv)
®) (@(v) () () (i)
(4) (@) @) (@v) (@

L L T, L
o wsgg=oo 85 ) wS;gzoo 85 10_ g5 10 _ «Lgs

A F TH.IRTH. Foifed R (fader, 2017) & TR, YRA & 9 THl hl STh! STNEA SFHE
& STHR T 3RS 8 H Folmg |

(a) fo=R (b) W I

() W= T (d) TeEIH

ETE

1) (@), (b), (c), (d) 2) (), (9, (), (a)
3) (o 4)  (d), (o), (b), (a)

(d), (a

) ), (b) , ,
LTI RCRR Y




24. Major causes of marriage breakdown are show in List - I and name of Demographers whose
work supported these causes are given in List - II. Match List - I with List - II.

List - I

(a) Rise of individualism
(b) Cost of marriage
(c) Specialization of skills
(d) Gender equality
Code

@ () (9 (d
1) @ (@) @) @
2 @ @) @O ()
() @ @) @) @
@ @O @ (@) (@iv)

List - II
i)  Desai (1997)
ii) Maslow (1954)
iif) Desai and Dube (2011)
iv) Becker (1960)

25.  Which one of the following concept is not related to fertility studies ?

(1) Natural Fertility
(3)  Actual Fertility

(2) Fecundability

(4) Consensual Union

26. If life expectancy at birth (eg) is 65 years in a population for a particular year. What is the

life Table birth rate ?
(1) 15.4 per thousand
(3) 15.0 per thousand

(2) 15.9 per thousand
(4) 16.0 per thousand

27. Arrange the following bigger states of India in descending order (high to low) in terms of
their infant mortality rates as per the latest SRS Bulletin, September 2017 :

(a) Assam

(c) Uttar Pradesh

Code :
1) (), (@), (), (d)
c), (a), (b), (d

), (a), (b), (d)
UL RLRR

@)
poss [

(b) Madhya Pradesh
(d) Chhatisgarh
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24.

25.

26.

27.

(
porsss ||

ferame foreesg o W@ RO FRIt - [H 991 59 R0 1 THA hiare SHe fokl o 94 =it - 11
H few e § 1 R - 11 R - 115 91 gaford o |

Tt - 1 et - 11

(a) SAfFER H Jis (i) <HE (1997)
(b) o =t @ (i) HEA (1954)
(c) Teramsti sl fomrosar (i) <EE 3R g (2011)
(d) T g (iv) ST (1960)
<

@ (b) (9 (d)
1) @) @Gv) @) @)
2 @) @Gv) @) (i)
3) @) @) @v) (@)
4) @O @) @) (@Gv)

frefafed § 9 HIFE STARIT YT 18984 o |1 T2 Tal § ?
(1)  YTehideh IS Mok (2) ST &
(3) Tdfdeh YSI iferd (4) weHfas fHed

T ford o § e § S (o) W SioH Fean At 65 & i oiew el S S o At 2

(1) 9fd 8SR 15.4 (2) 9fd g8 15.9
(3) Hfd BN 15.0 (4) 9fd BN 16.0

STEIAA TH. AR TH. Feifed R (FdeR, 2017) & TER, YRA & o< Tl ol 3! 191Y] g X
STYR R TRl ¥ (=9 9 1) o 9eie -

(a) TEH (b) HH U

(c) WU (d) BETE

e

(1) (b), (a), (c), (d) (2) (@), (b), (9), (d)
3) (0, (a), 4) (d), (b), (a), (9)

), (b), (d) ’ ,
AR 1




28. Some of the important population theories are shown in List - IT and name of propontents of
the theory are given in List - I. Match List - I with List - II :
List - I List - II

(a) Gary S. Becker and Gregg H. Lewis (i) “Population growth is an autonomous
factor, which affects agricultural
productivity rather being affected by it.”

(b) Julian L. Simon (i) “When society does not limit population
growth voluntarily diseases, famine and
wars reduce population size.”

(c) Ester Boserup (i) In long run, moderate population
growth improves standard of living both
in more and less developed countries.

(d) Thomas Malthus (iv) “Parents may be altruistic towards their
children.”

Code :

@@ (b) () (d)

® @O @ @) (@)

() Gv) @@ @ ()

G) Gv) @ @) ()

@ Gv) @) @ )

29. Which one of the following combination of errors of coverage in age data have been obtained
in census return ?

(a) Under-enumeration of young children

(b) Net-count at the older ages

() Under-enumeration at the early adult ages

Code :

1 (@ (2) (a) and (¢)

(3)  (b) and (c) 4)  (a) (b) and (o)

30. Who among the following defined natural fertility as the marital fertility prevailing in a
population in the absence of any deliberate birth control ?

(1) Easterlin (2) Inkeles (3) Louis Henry (4) Lesthaeghe

porsss [N 1 Fapec



28. et - 1 ¥ 38 Y@ saen fagid fou e § o) 9=t - 1 37 fagidl & gfaaeent o W fu 7 1

29.

30.

(1) (2)
vosts [T NANEAI s

T - 1! At - 11 o 91 GAferd
el - 1
(a) TR TH. 9K qe1 U T, wAfod (i)

el - 11
e gig T Wad R § S i gl
Y gufad g9 & S 39 gfad sar g1

59 TES Wifesd ®9 9 SHEE w difhd T8
FHAT T 1 W, STHRA AR g5 SHHe § fREe
AL |

SR H; sifuek o) A foskfaa <M1 & <@ |
M SEE gig Stiad TR § gur @ € |

(b) Sfer wd. foHH (ii)

(c) TR ST (i)

(d) o e (iv) *‘Trar-foar sTo st o fd wnefde & wehd § 17
<
@@ (b) (o) (d)
1 @ @@ @) (@)
) Gv) @) @) ()
®) Gv) (@) () (i)
4) (v) () (@) (i)

3T Treret aTienel H, Thalst ot Ffedl o, fAfafad % o[ § G, SFoH 8§ 9 fohd S € 2
BIS Al ohl 3T UM

g 31g W fraa firdt

URfte Yig 3T H 319 U

a

~

(
(b
(

C

~—

(1
(

) @ 2)
3)

(b) 3 (c) (4)

Frfafad § 9 fhe T S &9ar sl frdt Seen § fhdt digwa Saen a0 & s o

faermM Safess S &HdT & &9 § gfyrfeg fean 22
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31. Assertion (A) : According to the UNFP’s A World Population Report 2016, 12.8 million
adolescent girls have an unmet demand for family planning.

Reason (R) : Adolescents, especially those who are not married for more obstacles than
adults in obtaining contraceptives because of restrictive laws and policies,
concerns about confidentiality etc.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

32. According to International Migration Report, 2017 (UN), which of the following countries
has the largest size of diaspora ?

(1) India (2) China (3) Mexico (4) Phillipines

33. Proponents of various demographic concepts are given in List - I and conceptual details are
given in List - II. Match List - I with List - II :
List - I List - II

(a) Coale and Hoover (i)  Demographic dividend

(b) Bloom and Williams (i) Effect of dependency ratio on saving and

investment in India and Mexico

(c) Paul R. Ehrlich and Anne Ehrlich (iii) The Ultimate Resource is the human

imagination coupled to the human spirit

(d) Julian Simon (iv) The Optimum Population Theory

Code :

@ () © @

O @ 6 @ W

@ @ ) @ o

@) @ @ @) ()

@ O @ @ @)
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33.

( i) @) () (
rarsss [ [I1ININNEAN

AUFRYT (A) : J TR, i fava SHg@n KA 2016 & AER, 12.8 faferm fwenfai i
R e =T HiT 3Tgfid § |

e (R) : ! i ol § feRsiifal faeroeny eifoented fersiifial sl fuemme A iR
ifaa, Morear deet fameh enfe & @wror 1t Rivs T FE FwE e
eSS AT HTAT ISl € |

1)
(2)
(3)
(4)

S yaed R, 2017 (I.WF.) o ER, Ffafad § 9 fg <w1 & 99 waitys gen o
‘g’ € 2
(1) 9Rd () =M (3) A (4) el

fafis SHifeReRIa sTaumonsT o Yfqaraehi o =19 et - [H G TR 61 =1 et - 1 H fo=n 7=
TG - 1 Gl - 11 & 91 gafad &

et - 1 et - 11
(a) I TH TR () SRk @
(b) =qH TS fafeee (i) WA SR AforTen! § oo SR o R Hefan srgum
<l THIT

(c) Ui 3R Wefeleh Ta o Wefdsr (i)  oifqw Heem AHeta stedl < WY S 7 &l
HETAT T |

SIGRERSIEIE] (iv) g=ad SEeE fEgid

B

@ () () (d)
1) @ @ @) @)
(2) @) (@v) @) (@)
G @ & @)
) :

iv)
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34. Information pertaining to basic amenities like (source of drinking water, toilet and bathroom,
source of lightning, type of fuel used) was gathered for the first time from which of the
following census years ?

(1) 1981 (2) 1991 (3) 2001 (4) 2011

35. According to World Health Organisation (WHO)’s the Global Burden of Diseases (GBD)
estimates, which one of the following weight is used in a disabling condition equivalent to
death ?

(1 o (2) 0.25 (3) 0.50 4 1

36. Match the following International days currently observed by The United Nations given in

List- I with their specified dates given in List - II :
List - I List - II

(a) International Women’'s Day (i) 11t October
(b) World Environment Day i) 11t July
(c) World Population Day (iii) 8th March
(d) International Day of The Girl Child (iv) 5% June
Code :

@ b © @
O 6 @ G @)
@ G @) @ o
@) @ @) @) 0
@) @) O @ @)

37. In alife Table, the probability of surviving from birth to the 65 year is calculated using which
of the expression :

M) @Po=tB @ P @) @PemEE (@) Pl
(0] LO o lO o ZO (0] LO
38. Assertion (A) : In high income countries, the source of employment for women are the
health and education factors.
Reason (R) : In low income and lower middle income countries, agriculture remains the
most important source of employment.
Code :
(1) (A) is correct, but (R) is wrong.
(2) Both (A) and (R) are correct.
(3) (A) is wrong, but (R) is correct.
(4) Both (A) and (R) are wrong.
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34.

35.

36.

37.

38.

frafafed # 9 fore oM o @ ggelt s givenfe gfawnsti o (Tasra &1 @, s 3R
MER, YIS o |d, ST H MU S 3§ S8F 6l ThR) 9 Fafed SR Tehs i T8 off ?
(1) 1981 2) 1991 (3) 2001 (4) 2011

fove TRed e & AR, I & Afvasw 9R (STaEl) & oThed | Y & 9uqed STUThR
feafa o fr=foafed o 9 forg T R =1 9= foman s @ 2

1) 0 2) 0.25 (3) 0.50 4) 1

Teil-1 H T T g SRl HAIY S ATl Sfaegta feadi =6l geit-11 7 & 78 fafire fafer =
1t gHfera s

T - 1 et - 10

(a) AU wfeen foom i 11 AR
(b) Tova qateR faaw (i) 11 JaE
(c) Toa sHgen feom (iii) 8 HE
(d) afeent i faaa (iv) 53
<< :

@ () (9 (9
1 @O @ @G (@)
(2) @) @v) @) @
3 @ @ @) @
4 () @ @) (3

Stie aiferent |, S 9 65 961 ok Siifad @1 i Ifgehdl s afaror fAafafea § 9 foeg sifvysafe
1 SYANT ik I STl © -

L L [
(1) 65PO = T65 2) 65P0 =6 3) 65Po =6 (4) 65P0 = %
° )

AR (A) : 3 T A1 < H, Afeensli & fore ISR 1 Bid waree i fren wre €1

e (R) : T 3T 9Tt 3R 7w 1 et ui H, i ISR 1 Tt eyl #d 7 |
<

(1) (A) ¥ g, TG (R) 7o |

2) (A) 3R (R) IH W&

(3) (A) 7@ g, T (R) T &

4)  (A) 3R (R) EH Terd €1
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39.

40.

41.

42.

In the figure given below, square represents doctors, triangle represents ladies and circle
represents surgeons. By which letter the ladies who are doctor and surgeon, both are
represented ?

1 U @ T ®G) S 4 R

Which one of the following methods used to compute Mean Age at Marriage (SMAM) from
census data ?

(1) Reverse-Survival method

(2) Census synthetic Cohart method
(3) Conventional method
(

4) Reed - Merrel method

Assertion (A) : Female babies lack access to critical neo-natal care in India.
Reasoning (R) : Son preference in India is very strong.

Code :

(1) Both (A) and (R) are true and (R) is correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not correct explanation of (A).

(3) (A) is true, but (R) is false.
(

4) (A) is false, but (R) is true.

If a population increases by 2.5% every year, how many years it will take to double its
population ?

8 (3) 30 (4) 32

(1) 25 2 2
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39.

40.

41.

42.

= fou T fo=r #, ot fafshegss = quiian §, e afgensti =1 gwiar § iR 99 voafafaas &
9T B 1 Tore 2781 o g0 3 Afgcnsdi skl gwiian o § S fafecae o7 sreafafecdss M1 § 2

SFATUMT Skl W foame & o d o1 (TE.TA.LUA.) i uforr frefafed § 9 fea fafugomed
T STANT HIh i STl § ?

(1) ufqadi-3aestterar fafe/gomeft

(2) STUAT HYATHA hIgTe FoTett
(3) URFfE FoTedt
(4) - yored

2

4

AR (A) : IR | =l ol Heaqul Fared gi=a 9qfad 9 § 78 fHd ardf T
T (R) : IR H T <l HToh! Jrefirehar < St €1

e

1) (A) 3R (R) IH T2 § T (R), (A) T T ==A T

1) (A
(2) (A) 3R (R) I WEl &, W (R), (A) F el = T ¢ |
(3) (A) W& T, T (R) T4 § |

@) (A

4) (A) e ¥, R (R) TE T

gfd ¥ 2.5% i X 96 W SHAEA i A1 2 | foha 1 a8 & RT 2
25 2) 28 3) 30 @) 32

(1)
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43. Match the following concepts given in List - I with the proponents of the concept given in
List - II :
List - I List - II
(a) Intervening opportunity = (i)  Everett Lee
(b) Expected income (i) Zelinsky
(c) Mobility transition (iii) Stouffer
(d) Intervening obstacle (iv) Harris and Todaro
Code :
@ () © @
O O G @ )
@ @ O G @)
@) v @) 0 @
@) @ @) @ 6
44. Which among the following combination best describes the Gender Stereotyping ?
(a) Women are rational
(b) Men are stronger
(c) Women are less committed for public life
Code :
(1) Only (a) and (b) (2) Only (b) and (c)
(3) Only (a) and (c) (4) All (a), (b) and (c)
45. The crude death rate in a life Table is calculated using which of the following expression ?
W o ® T ® 1, @
o o o o
46. Which one of the following is not ‘one of the six’ pillars of intervention under India Newborn
Action Plan (INAP) ?
(1) Aims at attaining single digit neo-natal mortality rate by 2030
(2) Care during labour and child birth
(3) Pre-conception, Antenatal and Postnatal Care
(4) Care beyond newborn survival
porsss [ HHNIHAIRLAAN 2 Fapec




43.

44.

45.

46.

Tt - 11 < 8 STaeronst ol et - 11 H ST 7T 37 gfqureshi o M o @re gaferd

et -1 et - 11

(a) THHIRR ST () TR @t
(b)  STIHIA 3™ (i) Siferwnt
(c) TIfasiierdn Eshao (i) T
(d) TEEIRRT Ll (iv) =9 T IV
<<

@@ (b) (9 (d)
1 @ (Gv) @) (i)
2 @ @ @) @Gv)
®) @v) () @) ()
(4) @) (@Gv) @) (@)

freferea & @ sF-w g fon Sfearfea w1 qaifus w& €9 § afofq o g ?
(a) Hfead faaesia et 1

(b) &Y STHETHT TSI B € |

(c) Wit TS Sitaq & ufd & gfdas et 1

<

(1) fa () 3R (b) (2) fah (b) 3R (o)
(3) T (a) 3R (o) 4) (a), (b) 3R () TA

1 1 1 1
1) < @ T, G T @ 1,

frefafed § 9 SH-91 IR o wE Ao (TR H.) & Said g%aad & B8 Wl § § Th
T ©?
(1) a9 2030 Tk oA G S hl T 3Aeh H @ 1 A&d T Al
(2) WEI-UrEl IR S & TH F SRE U=
(3) URUgE (W-FEM), THIHd R I99-96a qi=ai
(4) e < TSI & o oig e
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47. The ‘Plan Holiday” was observed between which of the following Five-Year plans ?
(1) First and second plan (2) Second and third plan
(3) Third and fourth plan (4) Fourth and fifth plan

48. Match the following theories given in List - I with the proponents of them given in List - II.
List -1 List - IT

(a) Central Place (i) Harris and Ullman
(b) Concentric Zone (i) W. Christaller
(c)  Multiple Nuclei Theory (iii) Homer Hoyt
(d) Sector Model (iv) E. Burgess
Code :
@@ (b) (9 (d)
® @O @ @) (@)
() @) @ @ @)
G) @) @Gv) @ ()
@) (v) @) @ @

49. In a life Table with a radix of 1,00,000, the median age at death corresponding to [, is :
(1) 30,000 (2) 40,000 (3) 50,000 (4) 60,000

50. Match the following Climate Change Conference in List - I with the year of occurrence in

List - I :
List - I List - II

(a) Marrkech Climate Change Conference (i) 2016
(b) Paris UN Climate Change Conference (i) 2015
() Warsaw Climate Change Conference (i) 2013
(d) Lima Climate Change Conference (iv) 2014
Code

@ () (9 (d)
1 O @@ @) (@)
() (v) @) @ @
G O @) @ (iV)
(4) (@) @) (i

J-01518 N 24 Paper-II




47. Trefafea § 9 for doerdfa Aemsti & &= Aismr sEsm’ @r foean wen o ?

(1) Tel iR gE A 2) T R AR A
(3) it TR =reft Arsr (4) reft SR wiwe A
48. g - 1 ¥ fou 7o frefated fasidl &1 et - 115 ST 7T 37 fiareent o 9 & §1e gafed o)
T - 1 T - 11
(a) H=EF TH () =RE IR A
(b) Hehgl A=A (i) T=g FF=ER
() o8 Hh=eh fHsia (i) BRI
(d) HFR died (iv) S =™
e
@@ (b) (9 (d)
1 @ @ @) Q)
2 @) @ @) ()
@) (@) @Gv) @) (i)
4) (v) (@) (@) ()
49. 1,00,000 % Yfesd & |1y Sfa drferent #, [ STTET T T AR g 1 8 ?
(1) 30,000 (2) 40,000 (3) 50,000 4) 60,000
50. gt - 18 frefafed Serer afeds aeier ol gt - I8 TRt 29 % o & we aferd it
gt - 1 gt - 11
(a) HIhT STy IR T i) 2016
(b) URE .. ey aRedd T (i) 2015
(c) ORI STetary aRads FHer (i) 2013
(d) < Sierary gied e iv) 2014
< :
@@ (b) (9 (d)
® @ @) @) ()
(2)  @v) @) @) ()
G) @ @) @@ (@Gv)
4) (@@ @) @ @
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51. Which among the following combination is correctly related in describing Central Place
(CP) theory proposed by W. Christaller ?
(a) CPis a theory of location.
(b) CP is a spatial theory in settlement studies.
(c) Assumptions considered by Christaller can be applied across all settlements.
Code
(1) Only (a) and (b) are correct
(2) Only (b) and (c) are correct
(3) Only (a) and (c) are correct
(4) All (a), (b) and (c) are correct
52.  Which of the following programme dose not come under Non-communicable Diseases
programme ?
(1) National Mental Health Programme
(2) National Oral Health Programme
(3) National Vector Borne Disease Control Programme
(4) Pulse Polio Programme
53. Match the symbols in List - I with the name of index in List - II :
List - I List - II
(@ C, (i) Index of non-contraception
b C. (i) Index of marriage
(0 C, (i) Index of induced abortion
d ¢ (iv) Index of Lactional infecundability
Code :
@ (® (9 (9
O 6 @ @ @)
@ @ O G @)
@) @) @ 0 @)
@) ) @ @ 0
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54.

55.

56.

57.

58.

What is the expansion of acronym SATH launched by NITI Ayog ?
(1) Sustainable Action for Transforming Human Capital

(2) Sustainable Action for Transforming Higher Education

(3) Sustainable Action for Technical Education

(4) Sustainable Action for Transforming Hygienic Conditions

According to 2011 population census of India, which among the following range best describes
the female work participation rate (in%) ?

(1) 10-15 (2) 20-30 (3) 15-20 (4) 30 - 40

Match the Nuptiality Rates given in List - I with its formulae given in List - II.

List -1 List - II
(a) General Marriage Rate i M, ma%a unmarf X 1000
f,
(b) Age and sex specific Marriage Rate i) 23 =15 M7 pmarfa X 1000
(c)  Order specific Marriage Rate (iii) Puna+x 1000
M 1000
(d) Total Marriage Rate (iv) pli-1) X
a+
Code :
@@ (b) () (d)
1) @) @ (@v) (@)
2 O @) @) (@)
(®) @Gv) @) @ @
@) @@ @) @) @

Which of the following is not correct about ‘Menstrual Hygiene Scheme’ launched by the
Government of India ?

(1) The scheme is implemented only in rural areas among adolescent girls (10-19 yrs).
(2)
(3) Napkins were provided to adolescent girls under the brand name ‘Freedays’.
4)

Initially the scheme was implemented in 112 selected districts in 17 states.
Napkins were distributed by ASHA workers door to door in rural areas.

Which one of the following method is used to check the completeness of vital registration
data ?

(1) Myer’s Index Method (2) Bongaart’s Method
(3) Chandrasekharan - Deming Method (4) Srinivasan’s Method
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54.

55.

56.

57.

58.

ifa s gry e feran e snfafof W SATH w1 forar & € 2
(1) TEAIA TRM BT IRIHT g Hfgea

(2) TEATA THRM BR ERITHT SRR THIH

(3) UERATA TRM W fHw TIHIA

(4) FEATA TRE B JHRIHT ST herd

¥ 2011 I YRA ! SFTIHT & SR, Fr=fafad § @ sH-5 & Afeen wr 9rfedt R (% ®) #
iR TR €9 ¥ g T 2

(1) 10-15 (2) 20 -30 (3) 15-20 (4) 30 - 40
geit- 19 < 78 foamg <0 1 geit-11 § feu e g o arer gaferd i

elt-1 elt- 11
(a) HMEH foamE ST i M, mal%a unmarf X 1000

. f
(b) 3w eiR fein enenfa faeme = M) I8 Mmar%marfa x 1000

(c) k¥ fafime foaam <2 (i) M%unﬁx 1000
: Mo,/ % 1000
(d) Fd foeE (iv) Al—l)a N
< :
(@ () (o (d)
(1) @) @ (@v) ()
(2 @ @) @) (@)
3) (v) (@) @@ (@)
(4) (@) (@) (@) (@)

IR THR GRI TE i T ' wifes o worssdr o1’ & Gay o fefafed 8§ 9 SF-91 98 78 © 2
(1) I Frse Tk arion & § fRenfE (10-19 ) & &= St &l T 7 |

(2) URY ¥ I A 17 WA o 112 i< fSall § &n] &6t T oft |

3) ‘WS’ ¥ie TH % Havid fRenfEl i ufra’ gREn w7 |

(4) e hRiehaieT R UTHIO & H SR-ER SR ‘ Aufe | faafia =t T |

STH-TRUT o GSIehAUT 3Tiehs shi quidl skl SiTe i o fou freAfefea & @ f fafy o6 sagm fean
ST © 2

(1) ¥R & gaehich fafy (2) @me @t fafy

3) =sere-efHT fafy (4) HAfterm wt fafy
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59. While constructing the Physical Quality of Life Index (PQLI) which among the following
indicator is not used ?
(1) Per Capita Income (2) Infant Mortality Rate
(38) Life expectancy (at age one) (4) Basic literacy
60. Ina outbreak setting, which one of the following cases used as numerator to calculate overall
attack rate in a population ?
(1) Number of new cases (2) Number of new cases plus old cases
(3) Number of old cases (4) Number of primary cases
61. Who among the following scholars coined the term ‘Intermediate variables affecting
fertility” ?
(1) Kingley Davis and Judeth Black (2) Bongaarts
(3) Caldwell (4) Hajnal
62. Assertion (A) : Use of skilled birth attendants is highly correlated with lower maternal
mortality rates and reductions in neo-natal mortality.
Reason (R) : There is strong positive relationship between household wealth and skilled
case at birth.
Code :
(1) (A) is correct, but (R) is wrong. (2) Both (A) and (R) are correct.
(3) (A) is wrong, but (R) is correct. (4) Both (A) and (R) are wrong.
63. Which among the following is not true in describing Ecumenopolis ?
(1) Whole chain of metropolitan areas
(2) Single functional world city
(3) Itis a result of neoliberal urbanism
(4) Itis socially coherent
64. Which among the following component is not considered in constructing the Global Hunger
Index, 2017 ?
(1) Mortality rate of the children under age 5 years.
(2) Proportion of children under 5 years of age suffering from stunting.
(3)  Proportion of children under 5 years of age suffering from wasting.
(4) Proportion of under weight children under 5 years of age.
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60.

61.

62.

63.

64.

e gerehich i wifae e (.99, TA.8TE. ) TOR & 9md frafafed § 9 frg gaeis &
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T ¥ |
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(4) I% QIS ®9 H HIA T
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Tglas™ (RfT) & R 5 a9 9 &° 30 & Tl ol AT |

&ffor S (ARET) & RRR 5 96 | H 3W o =l I T4 |

MM 9 H I aTel (SIS 92) 594 & A W o =i hl 3TIU |

(1
(2
(

)
)
3)
(4)

vosts [T NANEAI g



65. If Age Specific Fertility Rates for different age groups are known, which of the following set
of data are needed to calculate “Total Marital Fertility Rate” ?
(1) Life table functions for different age groups
(2) Proportion females married in different reproductive age groups
(3)  Proportion of population married in different age groups
(4) Life table functions for different ages and proportion females married in different
reproductive age groups
66. Which of the following best classifies city of ‘Jamshedpur’ ?
(1) Administrative Town (2) Religious Town
(3) Mining Town (4) Industrial Town
67. Choose one of the following conditions, if Ca - Index of induced abortion is equal to ‘O’ in
Bongaart’s conceptual framework is proximate determinants of fertility.
(1) Absence of contraception (2) Absence of induced abortion
(8) If all pregnances are aborted (4) Absence of Lactation
68. Which among the following describes the undernourishment of the children ?
(1) Low height for their age (2) Low weight for their height
(3) Low weight for their age (4) Low calorie take than required
69. Which Five Year Plan Document sought to reduce the birth rate “to the extent necessary to
stabilize the population at a level consistent with the requirements of national economy” ?
(1) The First Five Year Plan Document
(2) The Second Five Year Plan Document
(3) The Third Five Year Plan Document
(4) The Fifth Five Year Plan Document
70. According to SRS bulletin September 2017, arrange the following states in descending order
(high to low) , by their level of infant mortality for the year 2016.
(a) Madhya Pradesh (b) Rajasthan
(c) Odisha (d) Telangana
Code :
1) @, b), © @ @ ), @), @ ©
(3) (@ (o) (b).(d) @) (@) (© (b)(a)
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65.

66.

67.

68.

69.

70.

porss ||

s faf\= 39 Twg & @l sl 39 fafTe S99 <X 9@ &1 @ Sfiehel ol fefaned 3 § ®H-9 92 &

SEd P daTfeeh S & J1d R ok g Bt 2

(1) fafa= 3u ¥9g & @l o foe Staq-areft g

2) fafe= 7 35 Twe & @ | foenfea afeansti &1 st

(3) fafy= 35 gl # foenfea SHE@ 1 $Tu

(4) fafe=1 35 wEl & foau Ster-anelt yerd qen fafy= goie 35 wel § foanfea afeenet @
ST

‘SRR’ TR 1 3faa sfteRtor frefafea § forad foeen <A@ € 2
(1) yemEfeR e (2) =nfHe TR
(3) ST TR (4) SArEnfiTs v

Ifg AT St WY TRET H Ca - ARG TG T FEhih ‘O’ & sR € 01 F=Afafed § 4
e fegfa, =0 fof, g wifda 1 THoey fuie, 1 == S |

(1) 4 g o el ot ettt

(2) ARG Tfurd Kt STufeefd |

3) dfc gue nefuwor Fr fehe 2 fean S §

(4) T HE i A

frefafead # & SF-91 s % FUHr 6 ST HaT g ?
(1) 39 & foers 9 0 o (2) S % TR 9 7 o
(3) 3 % forerSl § A T (4) TERIRA § FH HARN I TS

freAferfea ® | fore deaie Ao Jeie | S <X S8 & % S T i /T 6l T off S g
efeaEe Tl FE! & qerE H SHe el % fau sewe 8 ?

(1) 9" YoaHid Ml Yo

2) fadta deadia Jem o

(3) et daHd AT Yorg

(4) el dEEEE AN YoiE

fHamR 2017 % TH.3R.TH. eifed & AR, FH=fafaa T3 I, a9 2016 & fog 37t ] 96
& YR R TR (39 W F71) A # pafeq sifse-
(a) HEA U (b) TSR
(c) SIEmm (d) dem

e
1) (@), (b), ©,(d) @ ®) @) @)
() () () a

), (©), (b), (d) ,
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71. Match the Models of migration in List - I with the type of migration in List - IT :
List - I List - II
(a) Peterson’s Model (i) Typology of migration
(b)  Wolport's Theory (i) Decision making aspects of migration
(c) Mobuganje Theory (i) Theory of Rural-Urban migration
(d) Mukerjee Theory (iv) Mobility Field Theory
Code :
@ b © @
1) v @) @ 6
@ @ @) O @
G) O @ @) @)
) @ O @) ()
72. Assertion (A) : Women and children suffer more due to natural calamities and internal
conflicts.
Reason (R) : Women and children are less mobile, owing to several reasons.
Code :
(1) Both (A) and (R) are true, (R) is correct explanation of (A).
(2) Both (A) and (R) are true, (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
73.  Which one of the following is average population size of a district in India according to
census 2011 ?
(1) 1.8 million (2) 1.6 million (3) 2.0 million (4) 2.5 million
74. According to recent estimates of UN (2017) in which of the following year, India’s population
will be equal to china’s population ?
(1) 2022 (2) 2024 (3) 2026 (4) 2028
75. Match names of fertility theories given in List - I with their propounders” name given in
List - IT below :
List - I List - II
(a)  Social Capillarity (i) Arsane Dumont
(b) Theory of Diffusion or cultural lap (i) Kingslay Davis
(c) The theory of Change and Response (i) J.C. CaldWell
(d) Theory of Intergenerational Wealth Flow (iv) Carlson
Code :
@@ (b) () (d)
O 6 @) @ @
@ @ O @ @)
@) (v @ @) @
@) @ @ @) 0
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71. geit - I § Aied & Yo &l Geii- [ § JodT & YR o @1y Afed fefse-
Heit- 1 et 11
(a) HreTETH Hied ()  EHT K GERA
(b) U T fag= (i) HerE o ol Tt Teq
(c) WIS fagia (iti) IO Yo g
(d) s fagm (iv) Tiiefterr & fag
<< :
@@ (b) (9 (d)
1) @v) @) @) @
(2) () (v) (@) (i)
®) @) () (i) (iv)
4) (@@ @) (@v) (i)
72. UK (A): Wihfash smueredl R eTw=ifie Gem @ forai @R o= s difed 2 ¥ |
& (R) : ot iR =1 g HRol ¥ HH Tiasie 2 ¥ |
e
(1) (A) 3R (R) I ¥ € 3R (R), (A) T T A& 7 |
2) (A) 3R (R) S T € 3R (R), (A) T Tl A T 7
3) (A) %, (R) 3TEA T
4) (A) STTH %, (R) TF g
73. a¥ 2011 ! YRA i SIFIVAT o STIER, YRA & Rt {5t 1 ofea Seen fhadt § 2
1) 1.8 fHferE= () 1.6 fafe=m @) 20 fafa=a (4) 25 fafe=m
74. Y. (2017) % BA B o ket o STHR, Tre ad § wRd s S =14 i SHEe & auel
=gt ?
(1) 2022 (2) 2024 (3) 2026 (4) 2028
75. GEi-1 § 3 TS IS wfed o Ami bl geir-11 § fSu 37 gfqareswi o @ afea frfe-
geit- 1 et 11
(a) WM HivTRIE (i) oI A=
(b) Toremor = Witnfas gved 1 fag (i) fhRraar fom
(c) ufRerd iR erfshan =1 fagm (iii) L€ FeSaA
(d) Ha:dieE w=er Yo fHsr (iv) e
<
@@ (b) (9 (d)
1 @ Gv) (@) (i)
(2) () (@) (@) (iv)
() (v) () (i) ()
4) (@) @) @) @
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76. Which among the following combination rightly describes “voluntary migration” ?
(a) Migration for higher education
(b) Migration due to ethnic cleansing
(c) Migration for better house
(d) Migration due to salinisation of agricultural land
Code :
(1) Only (a) and (b) (2) Only (a) and (c)
(3) Only (c) and (d) (4) Only (a) and (d)
77. The Doubling time of a population for a given growth rate (1) is express as :
(1) t=1°§e 2) t=21§§e 3) t=&r‘5e (4) t=10gre2
78. Arrange the following states in descending order (high to low) according to size of aged
population 60 years and above.
(a) Andhra Pradesh (b) Himachal Pradesh
() Kerala (d) Punjab
Code :
Q) © 0), @, @ 2 (@ ®) © @
3) (@, @ O © @) ©)© @ @
79. Which among the following is required to estimate singulate mean age at marriage
(SMAM) ?
(1) Age at marriage of all married persons
(2) Age at marriage of persons marrying in last 1 year
(3) Population remains single by age
(4) Age at marriage weighted by age
80. Gender Inequality Index (GII) computed by United Nations, is based on which of the following
combinations ?
(a) Maternal Mortality Ratio (MMR)
(b) Adolescent Fertility Rate
(c) Gaps in percentage of atleast primary education among males and females
(d) Percentage representation of women in parliament
(e)  Gap in expectation of life at birth among males and females
Code :
1) (@) (b) (©) (¢ 2) (@) (b) (0 (d)
(3) (@ (b) (¢ 4 (@) (b) (d)
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77.

78.

79.

80.

frefafed § @ sF-1 g0 ‘Wfess yoauq’ i 9e-g8 fFefua wa g 2

1)  %ad (a) 3R (b) (2) HAA (a) 3R ()
(3) ke () 3R (d) (4) e (a) 3R (d)

3 T Tl R (r) o foT SHE@N o 1 BF & 99 &l 4 | forad sAfyezea foran Sran 22

log e 2loge
r r

_ 2loge
(2) t= 2 r

2
(1) t= logre

3) t= 4) t=
60 T8 TR Y ATtk I el TG SHI bl SIMUEAT o R o MR R FAfafad Tl Sl TR
%A H Hafed &1 |

(a) STy g (b) femraa wew

(c) ] (d) dSE

=4

(C)/ (b), (d), (a) (2) (@) () () (d)
(d), (@), (b), () 4)  (b) (9), (a) (d)

@ W Tohal 3i9d 3H (TH.TH.T,TH.) H1 Aehed hid o forg Ffafead § 9 fhae! Sekd <l

-~ _Q \./ ~—

(1
(3
fo
e
1) |t foenfea =afeqai &t faare & 999 35

2) fuzar 194 & <RE foar w0 a sAfwEbl ot faare & 999 39
3) 3 & feurd § sifoenfed ® SHame ARl sl He

(4) 39 ! THFA % FATHR foIaE i 39 1 AR

(
(
(

TgF TP TR e Seeren fan s gt (Sihems.em.) ffafed § 4 ffa gm w
T B 2

(a) HIG YT STIAC (TH.TH.S) |

(b)  ToRRI S ST |
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81. Match the milestones in Child Survival and Safe Motherhood Programmes in India given in
List - I with their year of initiation given in List - II :
List - I List - II
(a) Child Survival and Safe Motherhood Programme (i) 2005
(b) Reproductive and Child Health - II Programme (i) 1992
() RMNCH+A Programme (i) 2013
(d) India Newborn Action Plan (iv) 2014
Code :
@ (®) (9 (9
O @) O @ @
@ G @) 0O @
@) @) O @) @)
@ O @ @) )
82. Which one of the following is not measures of association for cohart studies ?
(1) Rate Ratio (RR) (2) Odds Ratio (OR)
(3) Attributable Risk (AR) (4) Population Attributable Risk (PAR)
83. The crude birth rate of any population is generally denoted as :
(1) Per one hundred (2) Per one thousand
(3) Per ten thousand (4) Per one lakh
84. According to vision 2020 document of India, how many additional users of family planning
for women is needed to sustain coverage of over 100 million women by 2020 ?
(1) 40 million (2) 45 million (3) 48 million (4) 50 million
85. Match List - I (presenting different World Population Conferences) with List - II (depicting
the places where these conferences were held).
List - I List - II
(a) First World Population Conference (i) Rome (Italy)
(b) Second World Population Conference (ii) Belgrade (Yogoslovia)
() Third World Population Conference (iii) Cairo (Egypt)
(d) Fourth World Population Conference on (iv) Bucharest (Romania)
Population and Development
Code :
@ () (9 (9
O 6 @ G @)
@ @ @ @) 0
3) (ﬁi) ) @ 0
(4) (i) (v) (i)
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81. Wei-1¥ U T, ot Shiferan 3iR YRfara AIged ikl o Hial o Jeerl ol geit-11 H fu e, 37
Y& Tt S o o1 o |1y gafad &
Heil- 1 et 11
(a) e Sifoan 3Tk YXfara Age wishd i) 2005
(b) S AR T WA HEHH- T ik (i) 1992
() SR TH.TAH.TH.+T FriHA (iii) 2013
(d) RA TSI S AT (iv) 2014
<
@ (b) (9 (d)
1 @Gv) @) @) (i)
(2) () (@(v) (@) (i)
3) (@) (@) () (iv)
4 @@ @) (@) (i)
82. IR AATA o foru W= o1 A frfafad § | e T8 ¢ ?
(1) WWM (RR) (F07t ) (2) @ W (OR)
(3) TSI (3TA) &k (AR) (4) UIYYF T &k (PAR)
83. Tl ot SHEE 1 STNfYd S ST ! A=A fohd &9 | SR S § 2
1) ¥ (2) 97 TH TR
(3) fd W &R 4) 9fd Th a™
84. WRA & TaM 2020 SHES & ATER, 2020 Tk 100 THfeem foai § 21feeh &t oS a9 W@H &
fore fordi o o afieR M o fha sifafea Iuarensti st STereashal © 2
(1) 40 Taferem (2) 45 Tafa=a (3) 48 Taferm (4) 50 fafe=a
85. geit- I (f9=1 fave Seen T9e) sl Fat-11 (¥ S8 98 Yo STEIfSd g0) o 91y gafad
SHIfSTT-
el 1 Heit-11
(a) 9uH fove SHEE THTH () ¥ (3ee)
(b) Tedta fova SEEn ¥ A (i) TS (FmEATeran)
(c) g foree SEE T (iii) HEA (3R)
(d) =qd fova SEEn g9 (iv) SRIE (M)
e
@ (b) (9 (d)
L @ @) () (i)
(2) (@) (@) (@) (@)
(3) (111) (iv) (i) (i)
(4) (i) (iv) (i)
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86. According to United Nations Estimate 2017, which of the following country in Africa, will
be third largest populated country in the world by 2020 A.D. ?
(1) South Africa (2) Nigeria
(3) Ethiopia (4)  United Republic of Tanzania
87. Assertion (A) : Some institutions are promoting inclusion and diversity by recruiting more
women in their organizations.
Reason (R) : It is found that most of the successful organizations have atleast 30 to 50
percent women force in their organizations.
Code :
(1) Both (A) and (R) are true, (R) is correct explanation of (A).
(2) Both (A) and (R) are true, (R) is not the only explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
88. On what grounds National Health Protection Scheme (NHPS) promoted by Government
of India ? Choose the correct Combination.
(a) Under investments in health care of its citizens by Indian Government
(b) Nearly 70 percent of citizens spend money on health care from out of pocket money
(c) This insurance is not cost effective
(d) Provision of wellness centers sub-centers
Code :
1 @ ® (©
2 @ @® (@
G ® © (@
@ © @ (@
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e
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3) (A) ¥ E, WY (R) 3EA T
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porss ||

URA GLHR gRT 3794 ANTeh] hi Ty e@ig # 37eq a9
TR 70 GG ARTeR 3191 Siel @ ¥ 491 e <EE W EE i ¢ |
STHT AN GHTet el BT 2

TR gl -STohwg| ohi ST |
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89. Which of the following economic theory advocates reducing taxes on businesses and on the
wealthy in society as a means to stimulate business investment in the short-term and benefit
society at large in the long run/term ?

(1) Comprehensive growth theory

(2) Trickle down theory

(3) Demographic transition theory

(4) Malthus theory

90. Assertion (A) : Inequalities in sexual and Reproductive Health correlate with economic

inequality.

Reason (R) : Within most developing countries today, access to critical sexual and
Reproductive Health care is generally lowest among the poorest 20% of
households.

Code :

(1) (A) is correct, but (R) is wrong

(2) Both (A) and (R) are correct

(3) (A) is wrong, but (R) is correct

(4) Both (A) and (R) are wrong

91. Which of the following state has introduced Vajpayee Arogya Sree (VAS) Scheme in 2010
for people below poverty line ?

(1) Kerala (2) Andhra Pradesh

(3) Bihar (4) Karnataka

92.  Which of the following is related to Pearl Pregnancy Index ?

(1)  Fertility (2) Mortality

(3) Migration (4) Family Planning
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ETE
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(4) (A) 3R (R) T Terd £
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93. By which of the following measure, the disease burden could be calculated using the ‘years
lost through premature death’” and “years living with disability” ?
(1) Mortality adjusted life year
(2) Premature - living age
(3) Mortality - fertility ratio
(4) Disability adjusted life years
94. Which of the following is not a component of the ‘MAA” (Mother’s Absolute Affection
Programme) ?
(1) It covers all states and Union Territories
(2) To build enabling environment and demand generation for breast feeding
(3) Lactation support and management at delivery points
(4) Organise programme by all Panchayats in the country
95. Assertion (A) : The presence of women in policy making bodies is negligible.
Reasoning (R) : Gender stereotypes are existing among women.
Code :
(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
96. Match the ‘Five year Plans’ given in List - I with initiatives taken in List - II.
List - I List - II
(a) The First Five Year Plan (i)  Extension Education Approach
(b) The Second Five Year Plan (i) Family Planning Clinics were opened
(c) The Third Five Year Plan (iii) The mass camp approach
(d) The Fourth Five Year Plan (iv) Inclusion of sterilization in F.P. Programme
Code
@ (® (9 (9
O G @) 0O @
@ @ G @)
(3) (ﬁ) (i) (iv) (1)
(4) v) O G
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93, Trefafed o § ford 719 & g1 I YR &, THqE 9 o HRO @I 61 AR * ST 6 919 Sfted
ST g st o1 SURRT T gU, HIIT ST Hehell © 2
(1)  Hog FarEfSa St a9 |
(2) HHEIYE-SieH T |
(3) TSI WfeRt ST |
(4) ST GHRIST Sired a9 |
94, freafafed & § FH-91 'MAA’ (IeH STsHIYS STHhaR HIEAHT) I I2H Tal © 2
(1) =58 Tt T iR T Tow & onfee |
(2) UM &g FHfEA araeRe iR 7 TR S |
(3) UHE TEl W WRIGH Fedl SR Ue € |
(4) 9% HEHH T H [t dEREGH GRS S @ e
95. AMUHRIT (A): A TIR FHH ATt Feprl § Afgensii i IFiQR 7104 T |
e (R) : Tfeeted § foin wfearfear faemm 7
<
1) (A) 3R (R) S W& €, W (R), (A) T T AR 7 B |
2) (A) 3R (R) S & € IR (R), (A)H! el AR T
3) (A)FE T, I (R) T < |
(4) (A) 7o T, T (R) T g
96. WEit -1 H T TR ‘duadig Arsied’ &l gt - I H < T ugel & are gHfad # |
gt - 1 gt - 11
(a) HH gEtE A () Toren = faear gftesno
(b) et d=adita s (i) RER fESH At @t 7T
(c) drad e A (iii) =ATIR T TR MR S 1 gfEehTo
(d) <l g e (iv) THG. 9O o ST SRl 1 FHeRH
<<
@@ (b) (9 (d)
1) @) Gv) @) (i)
2) @) (@v) (@) (@)
(3) () () (iv) (@)
(4) (i) (1) (i)
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Read the table given below and answer questions 97 to 100.

Table :  Summary of Emergency Events Database by selected regions
Persons affected Persons affected
Number ) ]
Reo Sub Rei ¢ (% Kkilled or (% Kkilled or
egion ub Regions 0
& & , homeless) due to homeless) due to
Disasters ]
droughts windstom
Caribbean 283 286,636 (12%) 104,241 (5%)
North America 612 30,000 (<1%) 1,500,047 (2%)
Americas
Central America 356 58,933 (2%) 103,808 (2%)
South America 599 1,905,980 (7%) 15,545 (<1%)
East 401 1,765,088 (14%) 118,167 (3%)
Middle 88 374,726 (9%) 9648 (3%)
Africa North 145 1,700,243 (7%) 24,402 (<1%)
South 145 295,531 (15%) 48314 (4%)
West 200 967,841 (22%) 4822 (<1%)

Source : A Social Dimensions of Climate Change SDCC working paper, World Bank, 2017.

97. Choose the following sub- regions in ascending order (low to high) of disaster.
(1) Middle Africa, West Africa, Central America, South America
(2) South America, Central America, West Africa, Middle Africa
(3) Middle Africa, Central America, West Africa, South America
(4) Central America, Middle Africa, South America, West Africa
98. Which sub-region of America has highest affected percentage by droughts and wind storms
as given below ?
(1) South America (2) North America (3) Caribbean (4) Central America
99. Choose following sub-regions in descending (high to low) order by number of disasters.
(1) Middle Africa, South America, North America, West Africa
(2) North America, South America, Central America, East Africa
(3) South America, North America, West Africa, Middle Africa
(4) West Africa, Middle Africa, North America, South America
100. Which of the following sub-regions of Africa has highest wind storms ?
(1) East Africa (2) Middle Africa (3) South Africa (4) West Africa
-00o0-
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freferfaa arferent =i afen oik = feu 97 & 100 w¥HT 1 S| ST |
qrfeteRT: AT &5 § SAAIdeRTei Se1sTl & STe hl TR

EIRHE ] @ | guifed 3TiEfT 9 gerrfera
= o He (% Ta a1 =R R Aed) | (% Tad a1 =’ 9R fed)
EARERE] 283 286,636 (12%) 104,241 (5%)
i IW 612 30,000 (<1%) 1,500,047 (2%)
e 356 58,933 (2%) 103,808 (2%)
<faqor 599 1,905,980 (7%) 15,545 (< 1%)
T 401 1,765,088 (14%) 118,167 (3%)
e 88 374,726 (9%) 9648 (3%)
STHhIHT IH 145 1,700,243 (7%) 24,402 (<1%)
o 145 295,531 (15%) 48,304 (4%)
qfy=m 200 967,841 (22%) 4822 (<1%)

97.

98.

99.

100.

B : GIEd SHH-T A% FARde o TH.SL 991, afe IR, faea s, 2017 |

frfafea SusEl %1 sl | faufa & gfaftdl & TRE (= 9 3=) %A § =afked sifse-
(1) T4 TR, U= 3THhIh], had ST, SfeTor SRR

(2) <o SERER, F=E SRR, TR STHhIh], TET SThih

(3) WA STHIHI, hard STHRER, I=H THIHI, SeT0r STHREH

(4) H=ra AR, Te TRk, Sfaror oHfeRT, Uit TR

SRR &l § | A W 3uds H @ IR iferdt 1wl 3w & St foh ereeniget | fean mn g 2
(1) c<fgo e (2) A s@fer (3)  HRfam (4) s STHRER

frfafaa IueEl Sl TemeHl H ST 7T ST9ersti & Ffaem & sTerie %4 (3= § /) o gofteg
RIS
(1) WA 3Thiehl, Say0 STHRERT, ST STHIER, T STshichT
(2) W TR, Sfeaqor sTHRER, Tea TR, Id STHi
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